

①

$$I = \sigma \eta \quad \eta \sim G(0, 1)$$

↑

choose every Δt Average variance over a time T

$$\begin{array}{c} \Delta t \quad \Delta t \quad \Delta t \quad \Delta t \quad \Delta t \\ | \quad | \quad | \quad | \quad | \\ 0 \quad 1 \quad 2 \quad 3 \quad 4 \quad 5 \quad T \end{array} \quad i = 1, \dots, \frac{T}{\Delta t}$$

$$I_{tot} = \frac{\Delta t}{T} \sigma (\eta_1 + \eta_2 + \dots)$$

$$\sigma_{tot}^2 = \left(\frac{\Delta t}{T}\right)^2 \left(\frac{T}{\Delta t}\right) \sigma^2 = \frac{\Delta t}{T} \sigma^2 \rightarrow 0!$$

So

$$\sigma = \sigma_v \sqrt{\frac{2T}{\Delta t}}$$

$$\langle I(t_1) I(t_2) \rangle = 0 \quad \text{if } t_1 \neq t_2$$

$$\langle I(t_1) I(t_2) \rangle = \sigma^2 = \frac{2\sigma_v^2 T}{\Delta t}$$

(2)

$$\int_{t_1}^{t_2} \delta(t) dt = \delta(t_1 - t_2)$$

$$\int dt \delta(t) = 1 \quad \int dt' f(t') \delta(t - t') = f(t)$$

$$\langle I(t_1) I(t_2) \rangle = 2\sigma_V^2 \gamma \delta(t_1 - t_2)$$

$$\gamma \frac{dV}{dt} = E - V + I \quad V = E + x$$

$$\gamma \frac{dx}{dt} = -x + I$$

$$x(t) = \frac{1}{\gamma} \int_{-\infty}^t dt' e^{-(t-t')/\gamma} I(t')$$

$$\langle x \rangle = \frac{1}{\gamma} \int_{-\infty}^t dt' e^{-(t-t')/\gamma} \langle I \rangle = 0$$

$$\sigma_x^2 = \langle x^2(t) \rangle = \frac{1}{\gamma^2} \int_{-\infty}^t dt' \int_{-\infty}^t dt'' e^{-(t-t')/\gamma} e^{-(t-t'')/\gamma} \langle I(t') I(t'') \rangle$$

$$\langle I(t) I(t') \rangle$$

$$G_x^2 = \langle x^2(t) \rangle = \frac{2\sigma_v^2 T}{T^2} \int_{-\infty}^t dt' \int_{-\infty}^t dt'' e^{-\frac{(2t-t'-t'')}{T}} \delta(t-t') \quad (3)$$

$$= \frac{2\sigma_v^2}{T} \int_{-\infty}^t dt' e^{-2(t-t')/T}$$

$$= \frac{2\sigma_v^2}{T} \frac{T}{2} = \sigma_v^2$$